ANSWER KEY SQP(2021-22)

Subject: P.E. (048)

Class: XIl
Q.NO ANSWER MARKS
DISTRIBUTIO
N
(SECTION-A)
1. d) Riboflavin 1
2. a) N+1/2 1
3. b) Rikli and Jones 1
4, A) Flexion 1
S. c)Wrist 1
6. a) Knockout 1
7. d) lodine 1
8. a) Dr. Mc Collum 1
9. a) nb+1/2 1
10. d) Lordosis 1
11. c) Rikli and Jones test 1
12. c) 30sec 1
13, d) Scoliosis 1
14. b) Fine motor skills 1
15. c) Newton 1
16. a) Cardiovascular 1
17. b) Round robin fixture 1
18. d) Flatfoot 1
19. c) Deficiency of Vit. A 1
20. a) Law of inertia 1
21. a) 1:2:1
1
22. c)N-1
1
23. b) kyphosis 1




24. d) Abduction
(SECTION-B)
25. c) Flexibility
26. c) Both a) and b)
27. b) Explosive strength
28. b) 21
29. d)0
30. c) Lordosis
31, a) 4 3 1 2
b) 4 1 3 2
32.
c) 1 3 4 2
33.
d) 4 1 3 2
34.
3. c) Protein helps in production of hormones.
a) 5
36.
a) 4
37.
38. c) Both (A) and (R) are true and (R) is the correct explanation of
(A)
b) Both (A) and (R) are true and (R) is the correct
39.

explanation of (A)

40.

b) Circumduction




c) 68.1

41.
(a) a—ii, b—iii, c—i, d—iv
42.
b) 4 1 2 3
43.
a) First law of motion
44,
b) Both (A) and (R) are true and (R) is the correct
45. explanation of (A)
d) Facilitates poor coordination
46.
d) 6min walk
47.
c) Overweight
48.
(SECTION-C)
B) Normal weight
49.
A) agilit
50. ) agility
b) Newton’s Second Law of Motion
51.
a) Proteins
52.
b) Seeding
53.
a) Scoliosis
54.
c)Botha &b
55.
b) 3
56.
d) Botha &c
57.

58.

d) Both b)and c)




59.

(b) angular

60.

b) Knock out




